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e Please check that this question paper contains 8 printed pages.

¢ (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  All questions are compulsory.

(ii) The question paper consists of 29 questions divided into three Sections A, B and C.
Section A comprises of 10 questions of one mark each, Section B comprises of 12
questions of four marks each and Section C comprises of 07 gitestions of six marks

each.

(iii) All questions in Section A are to be answered in one word, one sentence Or 43 per
the exact requirement of the question.

(iv) There is no overall choice. However, internal choice has been provided in 04
questions of four marks each and 02 questions of six marks each. You have fo
attempt only one of the alternatives in all such questions.

(v) Use of calculators is not permitted. You may ask for logarithmic tables, if required.

gug - A
SECTION - A

v S 1 ¥ 10 7% W U 1 FFEHE |
Question numbers 1 10 10 carry 1 mark each,

1. tan” ()4 cos"(— %] %1 7@ 7F et |
|
Write the principal value of tan”! (1) + cos’l(- '2") .
2. tan [2 tan‘%)ﬂ T e |

Write the value of tan (2 tan‘%).

a—b 2a+c [ = -5 } .
4 e |
3 uﬁ[ - ] o 13 % &t o 1 | TE HIC |

a-b 2a+c | [-1 Si\

4 if =
Find the value of a1 [ 9a-b 3c+d | 0o 13
x+l x=1 ] \ 4 -l

0 3 b%’.ﬁxﬂmfﬁﬁﬁql

x=3 x+2

x4+ 1 x-1

=

‘44

{ ‘ , then write the value of x.

If.‘ -3 x+2
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10.

N IV LI} N

If[g - 4}A[1 . _l]th find the matix A
_2 13—+04 9 , en 1nn € matrix A.

YT T @—}Jﬂ{%}lmwm }

2 vy
Write the degree of the differential equation x° (Ex%] + r[a‘:g =0.

qﬁﬁ:xi+2}-zf:ﬂ S=3f—yj+ﬁﬁﬂﬂﬁ'ﬂﬁﬂ%‘, ﬁ}_r+y+z$rq17{ﬁvlﬁﬂﬁ |

Ifa=uxi+ 2_? —zkand b=3}- yj'\ + K are two equal vectors, then write the value
ofx+y+z

qﬁwqﬁwu&ﬂﬁ’,?%m%,j%mgaﬂﬂétmwnﬁﬁmemtﬁewm
T BT |

If a unit vector a makes angles '?,’E with 1, 'E with 3 and an acute angle 8 with k, then find
the value of 6.

T 1@ T AT FHIHROT T HIAC ST T (<2, 4, ~5) F 2o Tt & ST Y@

x+3 4-y z+8 ;
s = N & AT E |

Find the Cartesian equation of the line which passes through the point (-2, 4, -5) and

3 4-
is parallel to the line 5= = 53':2;8.

ot IR = a1 | 1S5t F ATl SR ST HENUT S AT H Sl

P(x) = 0.005x + 0.02x + 30x 3T W&W & | 3 1A & SRl & I3 T FGHT P St B
i T 3 e aon fefe fF soiiee wem i & gog i §

The amount of pollution content added in air in a city due to x-diesel vehicles is given

by P(x) = 0.005x” + 0.02x” + 30x. Find the marginal increase in pollution content when
3 diesel vehicles are added and write which value is indicated in the above question.

65/1/1 3 [P.T.0.
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11.

12.

13.

14.

g -«
SECTION-B

o G 11 9 22 7 T T 6 4 AFE |
Question numbers 11 to 22 carry 4 marks each.

'{Eﬁ'ﬂt{%A:IR—%}ﬁf&)zgtimqﬁmﬁﬁWﬂ'@ﬁﬁw DS & | I '
6 BT |

4

Show that the function fin A=R— {%} defined as f(x) = 6?—-2 is one-one and onto. Hence
find f .

fore 1 WA TG ST

2
1+y
YT

1. g 2 SAEY
tanz[sm T a2 T C08 sLl<1,y>0amxy <1

I R

Find the value of the following :

. g 2 1=y |
tan':;_[sm'1+xg+cos11—;};:5},Lxl<l,y>0andxy<l.

OR
1 1) 1
Prove that : tan"l(i] B tan’l(g) + mm{_g-) =§.

Tt %wﬁﬁmw,ﬁﬂﬂfmﬁm:

T
2
200, *GF (1 - )
W
Using properties of determinants, prove the following :
1 x &
2 3,2
¥ 1 x| =(1-x).
x X1
et o BT x ¥ IR SO i
(log x)* + xog*
Differentiate the following function with respect t0 x:
(log x)* +x'°8*
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2
15. ARy= log[x+‘\/x +a ]%‘?ﬁmﬁ‘(xz+az)%x% +x3x—0

It y = log [x ++/x* +a® ], show that % + az)gx%+xi =0.

16. =T b Ber f(x) = |x - 3|, x € R, x = 3 TT Teiel § W STaEHId TRl € |
Foan

?faﬁ'x asintT™ly= a(cost+logtan‘/2)% md_xzx | WY |
Show that the function f(x) = [x— 3|, x € R, is continuous but not differentiable at x=3.

OR
2

d
If x=asintand y = a(cos t + log tan ‘/2), fmda“;zy'.

17. = 9 B f—’de

sin (x + a)
HYdar

. S5x-2
Wﬂlﬂﬁéli:\ﬂﬂ: — . & 8
jl+2x+3x2

Evaluate : fm

sin (x + a)
OR

Evaluate : J'_E.Z_
“J142x 434

2
o« +9 iz

18, maﬁé\ﬁqzj(xg+4f

xZ
EVﬂ]URtB.J.(xZ+4)(x2+9)dx

19. mmaﬁﬁmf (x| +|x=2]+]|x—4] dx

4
Evaluate : f (x| +|x=2] + |x—4] dx
0
20, e @ WY 2 AN © 9 WER % & f6 3 + b| = [a| &, @ fuw @i fe ik 22 + b
Hfewr b TR waEd € |
If 2 and © are two vectors such that [a + B| = [a], then prove that vector 2a + b is
perpendicular to vector b.
65/1/1 5 [P.T.O.
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v firg & frtwi o s o rr it = L S22 oy 42— 5 =0
mm%emww%aﬁaﬂﬁmwﬁwﬂml

arerat
T - (1+2]+3k)-4=03RT @21 +]-K +5 =0 e Yo =t sl

ST A T AA 1 - (51 + 3] — 6k) + 8 = 0 % faae o1 1 WY T T HIST |

x—2 +1 z-2,
Find the coordinates of the point, where the line 3 = - 4 = 5 intersects the

plane x — y + z— 5§ = 0. Also find the angle between the line and the plane.
OR
Find the vector equation of the plane which contains the line of intersection of the

planes r - (i +2j +3k)—4=0and r - (2i + ] — k) + 5 = 0 and which is perpendicular
to the plane T - (51 + 3] — 6k) + 8 = 0.

A, 60% Ton3lt & T Hiern & S B, 90% ISl T | U 8 9 ® A 9% fhae
Tfeer qenelt ¥ TR @UeH HUT ? T 31U TH ¢ {5 W wuew =i i § B & weE
=l sy aiaar <t S w=ifE 5T A § e fefaal o v dern & 2

A speaks truth in 60% of the cases, while B in 90% of the cases. In what percent of
cases are they likely to contradict each other in stating the same fact ? In the cases of
contradiction do you think, the statement of B will carry more weight as he speaks
truth in more number of cases than A ?

gqug - |
SECTION - C

9 AT 23 U 29 FF UE U¥H F 6 S ¢ |
Question numbers 23 to 29 carry 6 marks each.

s fageg soR foenfaEl & taeeRy, Fafiaar aar eeiv oftsw & gedl & SR W
% 6,000 T oI TEHS (LT FRT IHEF FIT Gaell & | God BT UogH F QTEHR A &
T TAFRR % T TR ufer | Sited 9T 2 11,000 S99 £ | SHERRT 99T $e U &
Tl 1 R TR 1 40 Fafaaa % g &1 T8 TR Ol S A e | Seie aRieEd
1 ST fFeger ST 99 g fafr 9@ use gew & faT 5 T Qe O e
HIWT | IR - Hedl, TAFRR, Fafiaar aor ek oiem & aied e o g god
AR, S AR AR T RIe™ &l 0N 37 % [T T HE1 =g |

A school wants to award its students for the values of Honesty, Regularity and Hard
work with a total cash award of ¥ 6,000. Three times the award money for Hardwork
added to that given for honesty amounts to < 11,000. The award money given for
Honesty and Hard work together is double the one given for Regularity. Represent the
above situation algebraically and find the award money for each value, using matrix
method. Apart from these values, namely, Honesty, Regularity and Hard work, suggest
one more value which the school must include for awards.

6
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2. mﬂm%wgﬁw%mﬁ%mmw%amﬁm%% l
Wmﬁmmt

Fgar

El‘%'xz=4y%ﬁaﬁﬁgwmﬂﬂﬂﬂﬁﬁ#\ﬁqﬁﬁﬁg(l,2)ﬁﬁﬁm% | 59
srfvrcia ) e Tt e T e o 7 AT |

Show that the height of the cylinder of maximum volume, that can be inscribed in a

2R :
sphere of radius Ris '\Tg' _ Also find the maximum volume.

OR

Find the equation of the normal at a point on the curve x* = 4y which passes through
the point (1, 2). Also find the equation of the corresponding tangent.

24, mﬁ#%m#,aﬁf=4yqé‘iﬁrx=4y—2ﬁfa%aharaimmﬁw |

gan
FareE % v B, & e X +y2=4¢éi(x—2)2+y3=4ammﬁaiawmsnﬁ
FiT |
Using integration, find the area bounded by the curve +? = 4y and the line x = 4y — 2.
OR

Using integration, find the area of the region enclosed between the two circles
x2+y2=4and(x—2)2+y2=4.

26. m"mwm2yeﬂvdx+(y-2xe*fv)dy=owmﬁm% |afEx =0Ty =1
ﬁmgan%,fﬁwmwﬁmquﬁmmma%ﬁm

Show that the differential equation 2ye dx + (y—2% eY) dy = 0 is homogeneous.
Find the particular solution of this differential equation, given that x=0 wheny = 1.

27. mwmaﬁauﬁwmaﬁmsﬁwaﬁﬁgﬁﬁﬁmm%%ﬁ%ﬁaﬁm
Paj—ak, 2?—j+ﬁﬁﬂ1§+2j+ﬁ‘§ | T GG, T T = 3?—j—ﬁ+k(2§'ﬂ2§+ﬁ)ﬁ
fory forg T TR AT €, T T oft W S0 |
Find the vector equation of the plane passing through three points with position
vechoms | ] <2k 23 -] » kond # 42} + k. Also find the coordinates of the point of
intersection of this plane and the lineT=31-]- k + (21 - 2 + k).

65/1/1 7 [P.T.O.
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BT A T B ¥ FAW: U 3R miie wmy 2 10,500 &1 ¥ 9,000 & | WETAR
ﬁm%mﬂﬁﬁwwwﬁwmm%ﬁmﬁmwﬁAmB%fm
THHIT 20 FART TUT 10 ey ufT 3wy & | 39 A, St 9T @ S e mar § § v
wmwmmﬁmﬁm%m,mmmmsm?ﬁaﬁaﬁmﬁ
il i | 9 TR U A T W amen meferl oo e o ey 9 T
mwﬁ,mm%ﬁmﬁﬁ#mﬁqﬁwﬁmaﬁm%m &fyspad 2t 2
SIS i T s W T S99, e 51 2o S | T 39 39 WV F WeHd
& o wattercer Haer & fore a=r st w1 e sy ervaE E 0

A cooperative society of farmers has 50 hectares of land to grow two crops A and B.
The profits from crops A and B per hectare are estimated as ¥ 10.500 and T 9.000
respectively. To control weeds, a liquid herbicide has to be used for crops A and B at
the rate of 20 litres and 10 litres per hectare, respectively. Further not more than 800
litres of herbicide should be used in order to protect fish and wildlife using a pond
which collects drainage from this land. Keeping in mind that the protection of fish and
other wildlife is more important than earning profit, how much land should be
allocated to each crop so as to maximize the total profit ? Form an LPP from the above
and solve it graphically. Do you agree with the message that the protection of wildlife
is utmost necessary to preserve the balance in environment ?

T ST R it et @ S ue @ e 40% & | T A BT T e afik g fafy
f&er =1 i1 vE & wav Y 30% F7 FT AT § 3R T3 §RT @R B 25% 5 a1 1 GHer
& r%ﬁﬁmﬁﬁﬁﬁﬁ@ﬁmwwmmﬁmﬁwm% | g% f&=n
w%%mﬁaﬁﬂﬁﬁﬁwmwmmﬁﬁﬁﬁﬁ@m@wﬁﬁﬁﬁ
F 3N O ufea & s ¥ | QT ERT e R A fafr w SanT few S = sifaesar s
Sife |mwaﬁwﬁﬁqwmfmmﬁﬁf&ﬁﬁﬁﬁrﬁ%mﬁqﬁfaﬁ
Fitge feaqsdt & )

Assume that the chances of a patient having a heart attack is 40%. Assuming that a
meditation and yoga course reduces the risk of heart attack by 30% and prescription of
certain drug reduces its chance by 25%. At a time a patient can choose any one of the
two options with equal probabilities. It is given that after going through one of the two
options, the patient selected at random suffers a heart attack. Find the probability that
the patient followed a course of meditation and yoga. Interpret the result and state
which of the above stated methods is more beneficial for the patient,




